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Abstract: This contribution proposes a new use case for TR 22.837. All text is new.
---------- Use Case template ----------
5.X     Wireless sensing handover
5.X.1 	Description
An elderly home has installed a new 5G system capable of providing communication and sensing capabilities through the facilities as illustrated in Figure 5.x.1-1. The deployed 5G system includes multiple sensing devices, e.g., base stations, providing connectivity and sensing capabilities. These sensing devices can perform wireless sensing of a target, in this case, wireless sensing of vital signs such as heart rate or breathing rate of one or more persons. Since elderly people move through the facilities, it is important to keep track of the vital signs independently of the base station used for sensing. The sensed vital signs are collected in a central server that is automatically monitoring vital sign anomalies. If a vital sign anomaly is detected, an alarm is triggered indicating the vital sign condition as well as the location of the monitored user. 
In the provided use case, base stations cooperate with each other to ensure efficient sensing handover of a ‘target’ user. In this particular scenario, a user, Robert, is considered who moves through the facilities. Robert's health is quite frail and requires continuous monitoring of his vital signs without interruption. Robert is currently sensed by means of base station A and is moving out of the sensing area of base station A and approaching the sensing area of base station B. Base station A and base station B cooperate in such a way that it is ensured that base station B has started wireless sensing of Robert before base station A stops its wireless sensing of Robert. When Robert is in range of both base station A and B, both base stations may cooperate to perform simultaneous wireless sensing.
[image: ]
 
Figure 5.x.1-1 Example of a wireless sensing handover scenario between Base station A and B.
5.X.2	Pre-conditions
1. [bookmark: _Toc49943788][bookmark: _Toc49944501]MNO operates a 5GS providing wireless sensing capabilities through Base Station A and Base Station B.
2. Robert has subscribed to the sensing service.
3. Robert is currently located in his room in the elderly home, and he is currently sensed by means of Base Station A.
4. Robert decides to go for a walk to the garden that is covered by Base Station B.
5.X.3	Service Flows
1.	Base station A is used for sensing Robert’s vital signs, whereby it sends the sensing measurements/results to a sensing server.
2. 	Robert starts moving toward the garden.
3.	The wireless sensing signal conditions of base station B become better than those of base station A. 
4.	The 5G system coordinates the responsibility of sensing Robert from base station A to base station B. During this handover time, both base station A and B might sense Robert.
5. 	Base station B is used for sensing Robert’s vital signs, whereby it sends the sensing measurements/results to a sensing server.
6. 	Base station A may stop sensing Robert’s vital signs.
[bookmark: _Toc49943789][bookmark: _Toc49944502]5.X.4	Post-conditions
[bookmark: _Toc49943790][bookmark: _Toc49944503]Robert’s vital signs are monitored without interruption independently of his location. 

5.X.5	Existing features partly or fully covering the use case functionality
[bookmark: _Toc49943791][bookmark: _Toc49944504]
5.X.6	Potential New Requirements needed to support the use case
[PR 5.X.6.1] The 5G system shall provide a means to handover wireless sensing of a target between different sensing devices.
[PR 5.X.6.2] The 5G system shall provide a means to perform simultaneous wireless sensing of a target by means of multiple sensing devices.
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